A E B BB & R

3.1 EEEAN

AN SE VAR IR Az B T8 4 FE SCHE X AT 55 i A B T B0 AN T R 119 ik B A9 A E i 1 2
AN ST R A R AR B A

& — B9 Diffusion #5784 B8 A= BAT 55 2 i — BESCR 2 1 4808 A 2 il L™ —
DU 35 DR B (55 7 O SCAS R A Tl PRI A 0 B 1 A il R P 8 R S o i — B0

TEAT SCAS TR 1) P8 A A 95 TP 5 2825 SOAS BRI L ARG R DiF S T A2 2 — 26, 0y 1 iy
AR AT 27 2 A AR 55 1 2% 8 0 SCA 4 1 9 P A5 A ol A 0 s 7 A 2 LR A TR A
PG APl ' A LR R N A o AT SCAR 1 ) 14 PR AR I 55 7 Jm B 2 1 i PR B

FIRAEAS B (1 IR A JRAT 55 o B SCR R AR AN AR AL 2o i 1 AT ] A 2 IE QA
FICAG [ SN LMY 2 ) — B L Diffusion B8t JG 2 A= A8 A 2 S0 B R L BIE LA
Diffusion #5875 BAT SO B B0 2 42 A 2088 19 BR O T8 W ad A+ 208 5931 2k
PG . ol 5t T L o 4] B AS ] ) ) 5 A8k oK 2 i Diffusion A= BUAY &

AR R A B2 Diffusion Az B AR 2 50 WK 4 181 7 o sl T LA O k9 38 0K
AR AR INZRE  TE 8 LIRS Rl A A BR300 WK 0B 8 A A B e 2 A B R 114 P A 3K i d i
Sy WL PR A BN Z rp A T SR b A7 7 0 S il 2 I 2R B b B SR S A A
Bn B LIS AT AT F0 90y BT LAAE LB A TR I B 2 AR R 2 A N Rl B P g 3140

HABIA TS AEA T 2 Zh— B R S 50 R Y Diffusion FE5Y 25 42 il £E 1
FIE . WA e AR E R G A2 08 (Fine Tuning) . i/ ABEHL S EOT la I 25 b T4 3 08 H 1
SEY AR BB/ s A 19 52 2 B, T UL S RO 2t v] AT BB AF O 25 2R

3.2 HEEND

RERMH A BIEED & FE 3 T HuggingFace, X PMEHE £ % H HugGAN
Community B flowers-102-categories FUHE 4 , BRI AH O A 53 ) TCFLAZEHK .



24 | Diffusion A4 EIETIG3E 51)Il % L6,

Kb 5 B8 o FE B AT 3-1 Bos .

B 3-1 Bodn 4R s R

N 3-1 0] LA L B 4 w0 2500 it 2 187 S0 00 -1 A TR B D 4 R A P A5 R Y o
16, TEAFE P £ 1) Diffusion AU A 1R £ 31X #% A9 &£ 46 & A, Y11 2k 58 BUG 22 Diffusion A5l
feE AL K R

3.3 MiXER

TEYN G5 2 BT e ok #EAT I8 23 (9 A%, TE PriE A 2 A 207 & L X 2 2B & 19/
L EH A NN TT e B B I D 1 A DR — DD A 7 T A Y3 L TR
JEHLR T A A AL

3.3.1 Pk eR %L

i T X} Diffusion £&8Y (9 Az gl a8 R AT I, 75 208 SO pR 85, AR 4N T
#5533 /@ I pR A

frommatplotlib import pyplot as plt

$matplotlib inline
import torch

def test (pipeline):
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device = 'cuda' if torch.cuda.is available() else 'cpu'

pipeline = pipeline.to(device)

images = pipeline(batch size=8,
num inference steps=1000,
output type='NumPy') .images

pipeline.to('cpu')
torch.cuda.empty cache()

images = (images * 255) .round() .astype('uint8")

plt.figure(figsize= (10, 5))

for i in range(8) :
plt.subplot(2, 4, i + 1)
plt.imshow(images[i])

plt.axis('off'")

plt.show()

W3 bR BB A 22 pipeline, pipeline 18 & — 4> Diffusion #E &1, 76 I i o6 50 2 A 3)
FIWrml FH AT 58 4%, S CUDA B9 GPU 5 CPU.L 26 ffi FH 32 CUDA ) GPU, B 5
W3 R 25 pipeline 245 A% 8 5K EIME . -2 3] Jupyter Notebook., Jy I & # W 4L,

3.3.2 AR VIZRBERLR LS,

FeR MR GRAYEE L X JE N T AR RS %E T 22k (Baseline) » R I 25 YRR ALK
B 22 IR I RN R 5 B LR BN RE W] 0 4 T 4, DU R 2 50 2R L, B Al T S e
IR A M T 2 e B IX 2R B4 AR N T

#5753 B /MU I 2 Y A
from diffusers import DDPMPipeline, UNet2DModel, DDPMScheduler

# 2 SCRERL, BEALY) 46 1k 2 4L
model = UNet2DModel (
sample size=64,
in channels=3,
out_channels=3,
layers per block=2,
block out channels= (128, 128, 256, 256, 512, 512),
down_block types=(
'DownBlock2D',
'DownBlock2D',
'DownBlock2D',
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'DownBlock2D',
'AttnDownBlock2D',
'DownBlock2D’',

)y

up block types= (
'UpBlock2D',
'AttnUpBlock2D’,
'UpBlock2D',
'UpBlock2D',
'UpBlock2D',
'UpBlock2D’,

#0046 4k T H 26

scheduler = DDPMScheduler (num_train timesteps=1000,
beta schedule="'linear',
prediction type='epsilon')

test (DDPMPipeline (unet=model, scheduler=scheduler))

TELL EACHS 1 T — A BEHL I 4R 1 28080 Diffusion B, B e — A BA I Zhoid i
BB A B R4l BATERANIE 3-2 PR

ik 25

Pl 3-2 2 MR YN A 8 fy i 1 45 2R 2 T N 7 1A R P 1) SR A 45 T 119 TR D A R 35
AL, BT LB 2 SR AN JE AT A =540, S AR08 2 A A i PELS BT RLE RJR  EL
T e R AR AR

11733 S M P 6] 2 AR W S 6 A L A D B 1 A S 2 P AR B, L ol ) 1R 1R
N AL IR P AT I
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3.3.3 VIR Rt A gt %

AR S B B AT R 1k R A VR AR R I R T DU AR E e T,
EH OV LAF B 1 £ 5] T HuggingFace, T LL AT DL ] 28 5 1 25 4 14 465 28 5t ok
Frimas, A 7 Y 2k Ja 59 B i K25 2R L B — B B R S BT A BE RO ORI ELL oA
B, B E AT LR B OO 2R 58 G #1282 I 2R 4 i B8 Y kATt A, DLRIE A © B9 I 2R 45 2R
WA .

o PN 2 e (0 80 R AT I AR 2 T

#5053 /AR LN AR I Rt B A B 3k

test(DDPMPipeline.from_pretrained('lansinuote/diffusion.1.unconditional'ﬂ

BT A 3-3 Frs .,

P 3-3 YN G A Y 0 5 2R

MIEL 3-8 BT LA I S B2 A i A [T 45 B8R o i AN SR ARG L (EUR mT U Hh e il ]
] — 8 AR A RS X SR T IR A R

TENGRA TR 23 s 2 B U b ) A58 28 R A7 B AR SCAF ] — H 39 save SCAFJT L AKX
AN AR AT LA E SCHY L 3X LS B B R A7 BACRD SCIF H S 19 save SCPFJTR L M O A7 9 462
AR IR

#2635 /P LI g 0 R

test(DDPMPipeline.from_pretrained('./save'ﬂ

M i) B4R fai B, 8 ) DDPMPipeline ) from_pretrained () B %05 3| pipeline, 2%
R RLRAF B BEAR A T pipeline LUS AT LA AT test O sREUE 2SR T,

FHETR IR WA Ty 2 C A PR 58 58 A T IR T5 2, AT LA Bl s 36 iR A5 R0 )1 2 A9 A ot
DL D B A S 560 7 2 B A » 13 T SRk T LA B A I 2R 38 0 1
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34 l&#R S5

3.4.1 ElREHE

it B E X —SE A Ry i AR B R AT 55 AR B FU AT AL P DL 4 R R U BT AR, R
A=A E LRI

#5053/ AR A

repo_id = 'lansinuote/diffusion.l.unconditional’

A E XL T —12 R i repo_id, FrIR T 44 3] HuggingFace BY 8085 & Al B 49
id ., 7E i 22 B A0 RS H B 22 YO B3 AN L T DA B O 4 R .

3.4.2 X EE

1. MEHKBIBE

B Gl MR T — ARG EZ N E TP E LN A AT IR E RN
75X B B A 0 2k O e T R R UL (A A B Y BRI 4R R B R BG4 RS
L/

#5553 FE /T2 R B J 4R

dataset = load dataset(path=repo id, split='"train')

dataset, dataset[0]

AR o T B AL 2] HuggingFace M8a 46 . XA Hdla 8 AT — 748 train, X HL L
M T train T X B BB T RUT

(Dataset ({
features: ['image'],
num_rows: 8189

1)y
{'image': <PIL.JpegImagePlugin.JpegImageFile image mode=RGB size=752x500>})

M T A A T LR B, — SR 8000 £ AU B AR EE R — T B image, W 5
T 3 A HH 4R LS 2 8000 Z 9K s

4% %] HuggingFace 193X A~ %4 4 2 4 2 A HugGAN Community [ flowers-102-
categories FUHEAE . i T AUAS 58 B 2% L ok BL 25 Hh 00 10 s 800t 4 1 O =0 AR 4

#5053 /N AR K 4

from datasets import load dataset
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load dataset('huggan/flowers-102-categories', split="train')

BATERINT

Dataset ({
features: ['image'],
num rows: 8189

1)

AL T B i T U Y RO A RE S A A DO AR R S e — .
AR AT 55 LU AT o T LSO A 98 20 B A 4 K 22 1 AR B, 02 167 PR B B 4 1 e S Y
55 v AT LA A0 A BN B A A PR 5 i Rk A H rp — R AT, A
JH i 80 ) Bl 4 BEA T I 25, n 28 Js R a4 9 7 1 mT RAAEE R i ie ¢ .

2. HIRE AL E

DA G N B T (B R A H e 4R 30 O BB T A0 7 S — L6 Ak PR R 1 o
BT 55 S A0 /NG — R 9 RUSE L ORI 18] R RUsE o 53 7 8 2SR ORI 5 A e 2 4
SR X AT XA AT B SE IR UF 64 < 64 Y -G R H gl /2 4% 1, 5040 1 5 58 4 of T
BB e A R S SR B RT L 0 T AR IR R U 2 B A R R R N A SRS . SR B TIE
Kot G T Ak P > A ACES AN T

#5653 BE /R0 4 T Ak 3

import torchvision

# 5 38 7 1 4

compose = torchvision.transforms.Compose ([
torchvision.transforms.Resize (

64,

interpolation=torchvision.transforms.InterpolationMode.BILINEAR),
torchvision.transforms.RandomCrop (64),
torchvision.transforms.RandomHorizontalFlip(),
torchvision.transforms.ToTensor (),
torchvision.transforms.Normalize([0.5], [0.5])

def f(data):
image = [compose (i) for i in data['image']]
return {'image': image}

# BB N MR B 5 7E 45 1 epoch SIS TTR, T LAAS GE 18] B0 H ) map 4b B

dataset.set transform(f)
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dataset, dataset[0] ['image'].shape

FRHS R AT R C 2 R W T O AT 25 LT 3 A5 3580 A 2 4 A B A TOUAL
TR T 6 ] R D] S 50 384 50 1) 70 0 S R AL M 70 A N O L i BT 0 2 U U 1R A 1) 4
RATBE R A — R0, BT AT S SR s ORI

(Dataset ({
features: ['image'],
num rows: 8189

1)y
torch.Size([3, 64, 64]))

T LLEFBAEETR M E R E L ke g,
3. EX loader

PR SE A Kt B A L T (8 R0 2 Ay Dy AR AR

#46 33 /€ X loader

import torch

loader = torch.utils.data.Dataloader (dataset,
batch size=16,
shuffle=True,

drop last=False)

len(loader), next(iter(loader)) ['image'].shape
AT

(512, torch.Size([1l6, 3, 64, 64]))

LB 5454 512 AR AR A 16 3k e
3.43 X HEH

HT T A 5 B A 55 LB g 8 i LA AT DUAS (8 P T A8 200 9 2 500, T 4% A BE L2 20T
RIS, o AT LAAS BVECUF A I 2R 45 3R L E CREPLZ B B i AU AN T

#5653 T/ AL
from diffusers import UNet2DModel

#E AR, BENL ) b 4k 2 8
model = UNet2DModel (
sample size=64,
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XA T diffusers JE 42 it 9 T H 2R G SCBERY L 7 I AN 5 28 K 56 A5 28 52 B ) 40
AN T 5 2 10 5 23 BT PR L 1 LRGSR BE AR 7 B 4T A R S S R L TR 5
i TRIEA LB .

TEACRD B f5 i B 23 38 TR BY rp (9 2 080 A s AT 25 R T

A LLE B T AR R S 4R 290 1.1 42 AR EE LA 9 R B2 2 2 B RL, Diffusion £52 21
£ A B K

3.44 WBET R
E S5 o 5 P 0 ) — e T LM% 0 G — 0 o T L S ol ARSI F
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prediction type='epsilon')

optimizer = torch.optim.AdamW (model.parameters(),
lr=1e-4,
betas=(0.95, 0.999),
weight decay=le-6,
eps=1le-38)

scheduler 1r = get scheduler('cosine',
optimizer=optimizer,
num warmup_ steps=500,
num_training steps=1len(loader) * 100)

criterion = torch.nn.MSELoss ()

scheduler, optimizer, scheduler lr, criterion

X B h EE Rk TR T HEK.

(1) scheduler J21E & 4§ o i3 s (9 T H 26

(2) optimizer s MR 416 BE P BB AL 40 TR,

(3) scheduler lr 2 8% 3] % (Learning Rate) i) T. B2,
(4) criterion JEI1H loss B T E.2&,

3.4.5 15 loss

A kBG5BT RO LR e L W E— T loss MIRREL, A
T H loss WY e H a7 80, T DLy SR 1 3 ok IS4l L 55 1 AP &l 3-4 B,

scheduler i 75

Pl 3-4 f (45 A g

P 3-4 MEIR T 1) P B ER I 7S 1) 5 3k, P I R OB U — S 0~999 1Y BEHIL B KL X
AR A A TR R AT v RS ) LU B, 999 ARERJE SE A MR A LT A B LA TR R R A AR
¥ 0 AR 5 A 2 SR PR P BB L AN L A s

Z I LA B A BAEL 2 o T AU PETAR A B A [R] B B DR O 7 A il P45 I 2 MK 8 42 1)
W 75 A £ 0 o S R MR P 2D RN 3% 999, A A e A A R A T b AT e MR ) o R L A
AR S I R R 2 U R AR MR P A R R D R E 0 I B R A A IR R T L X A i R
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Je £E 1 Diffusion Ji§JZ BT 2> 2 F A% BRI, 31X B2 3 FURG H1E e 20 0 A $ i o2 0~
999 By — R IF BB AUER T MRS P B R A RS R L

P 3-5 MR TR R THIAAY AR L B B A SRS N T R A MG AT R A P )
B R 18 A 55 2 DA MR 75 TR v AR 00 R 7 A0 A T 0 ) MR P 00 £ ke

e

model ’——‘ T = ‘

P 3-5 M FS ] o T i R A

& 3-6 #ER T loss MUTTFRE Jrik . A T B AL F0I0 H ok i Wt 7, AL T35 loss B HE 4 13
T LTI R B loss F1E IR A M 7 5K 152 22 B AT, — 3T B0 38 7 iR 22 8 (Mean Squared
Error Loss,. MSELoss),

k

&
Bt
N

&

s

criterion ’——‘ loss ‘

K 3-6 5 loss

s 3 SR M KA T EARTEAES TR loss WL, N HDER SLPRiTHH
loss FYARTE AR AT .

I

#5053 7 /€ LT loss By K%K
def get loss(image) :

device = image.device

# BE AL
#[b, 3, 64, 64]
noise = torch.randn(image.shape) .to(device)

# AL b AW LAY
#1000 = scheduler.config.num train timesteps
# [b]

noise step = torch.randint (0, 1000, (image.shape[0], ),

device=device) .long()

#A [&] R A s o B S
#[b, 3, 64, 64]
image noise = scheduler.add noise(image, noise, noise step)

# PR R HL A R B Ok
#[b, 3, 64, 64]
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AR v B ML A 1 M 7 A AR R P A 5, R PR R TR Y L i S TR
& 16 VT AZ R F I T g P 45 38 g 7 ] SR i fof PR R 000 41 i 1% MR P B L S 7 7 e
PSR 2 B AT 22 loss, BATE R

3.4.6 g

FNIX I Ik IR 2 — D) B R S & 2 ¥ ] IR IR IR T, I R i id 72 4
O 8 FHRC 1 ok B, A SRR B AT AR IR
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#save

DDPMPipeline (unet=model, schedulerzscheduler).save_pretrained('./saveU

train()

H T U2 9 5 i S AR T AR B IR A L TR P 2 FIWis 47 BR8P TR A SR CUDA 3158
AL AN SR AR S il CUDA & 315, w4 CPU 314,

Ik B 2 A AR A A K 22 BOBR B 2 ) B 7 ik — B T L loader HRAT EI— 41t
—HE B RIS T loss MR loss TR FE L AR 415 466 88 1 B A A S 40

Jir A R G 2 3 10 U<, BIVAT 58 ) ZR AT 55, JE A Y DR A7 S0 AS i 8% o 4 21003 Ay £ €
S rp A7 I, MK BT A Z BT T T E 20 4 A FEGE .

35 /NG

A 3l o Y R — A A E B A B R[] 52 2 A 4 T Diffusion B8 — i i I 2507 3%
LA B A A B I 5 12 BOHE B A PA PR SORE R I R | A R A O 1 A

AREA G N GRTT LA RIS 5 ) AR B Al T 25 2 i 2 I BE L2 ot i 1k
(93X R T 55 B S % B S BB R vy o 3 D) AR I 2 vl B 2 b i O 2 B0 R A A R
BR 78 J5 2255 15 b 2 R 22 Al IR 2 2T IR 7 12

A AT 55 44 S8 SOOI AN i PR A i P B A i e A 25 R SCARRRAE AN A 45 A
SCAE PR LTI AE PG — B SO A S S 15 rp 23 il 2 48 DASCAR PR DAL A P L S el 1] 45
5% .



